PRI Y

In the previous daf we learned about
RYTINIAMATOPY 120D R0 - NP2 M7 PP Man NAn
There was this bent 121 in Xy7773 - which was actually a U - “u” Shaped NaAn
shaped nan -

MNST IMDIRRI ORWOWT P UNM 2T PIIN POV 0T -

They applied Rav’s stringency of defining it as a wom 1w,
and SRmw’s stringency of requiring a door on one end of a
WNOM 1.

Therefore, they required doors at the 2 bends, and a 1> or
1 at each outer end.

Requiring 4 door Defining it 45
onlendofa Yoy 1 Yo 1/
MN5T MeaEN

The Gemara asked; »3 1 702 1372v '» - do we indeed follow
two stringencies of opposing opinions?

After all, we find in a Braisa that, somebody who follows the
551 ma M Rpw 120 - the stringencies of both nna
Rpw and 551 m2 is considered to be

911 Jwna 5 o5 - a fool who walks in the darkness?

2

We've learned the first answer in the previous Shiur. =

Our Shiur began with the second answer: .

PTTAR PINOT RYF7IN 227 M0N0 1772V KD 222200 27 IR - Do we follow 2 opposing
‘ We do NOT follow two stringencies only when they STRINGENCIES?

contradict each other.

For example, in the np>m about how much of a skull or ]

spine must be missing in order for them to be considered One who follovs...

deficient.

We will use the spine as our example.

PYIN DY DR RDW 12 - two vertebrae - a larger M w - ./ [9 /_,g//, > /a)

AR X9 D WIR 557 172 - one vertebrae - a smaller M - 7

A fool walking in darknes§}

Regarding the Halachah that a human skeleton transmits

NI -
The larger m»°w of the *RpW ma is a RN - stringency - in the second answer... oo 2 29 N
that anything less than that - such as a skeleton missing only NN 2T \RRD Ay A
one vertebrae is XYY, because it is NOT considered
qeﬁ01ent. The small.er WY of the 550 maisa N9 - leniency - When they CONTRADICT
in that a skeleton missing one vertebrae is NOT xnomn, b )

) ) . each othet
because it IS considered deficient. °
Regarding the Halachah of 7970 - an animal that has a defect @or example in the...
may not be eaten - I
The larger my*w of the "Rw M2 is a KM in that anything less ﬁk&'
than that - such as an animal missing one vertebrae is NOT
1970, because it is NOT considered deficient.

0} ANPA \

The smaller 1w of the 551 172 is a XM in that an animal nma : & i
missing even one vertebrae IS o0, because it IS consid- ~ ~
ered deficient. Missing 1 vertebmé 2 § Missing 1 verteomé 2

In other words - ONE missing vertebrae -

According to *Xnw n'ais NOT considered a deficiency -
resulting in a XN and X2 - it IS X - but it is NOT 190
-According to 551 1 it IS considered a deficiency - resulting
inar%p and Xin - it is NOT oo - but it IS no70.
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Therefore, you must follow either "Xw 173 or Y57 172 in both
situations - it is either deficient or not deficient.

If you follow both ma 11 you are contradicting yourself -
because it cannot be considered both deficient and not
deficient.

However, in the case of Dipy 112w, the X0 of considering it a
w91 M2, in no way contradicts the Xm0 of adjusting it
with doors - therefore, you may follow both.

The Gemara cites a Braisa where X2y '27 apparently
followed two contradictory stringencies by treating an »Inx
that was picked on vawa'x of the third year as both a second
year fruit by separating 30 Jwwn - based on 5571 72 who hold
that the new year for fruits only begins on vVaw11"v - and as a
third year fruit by separating *1» 7wyn -based on *Xpw 0’1 who
hold that the new year for fruit begins on vaw 1.

However, the Gemara explains that he did this because

Y PONOR I -

he was not sure which date 557 2 held and which 'kpw nna
held. Had he known, he certainly would have followed n»a
55n and only taken 3w 7wyn from it as a second year fruit, and
not "1 wY» as a third year fruit.

—
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Therefore...
If you follow both TYAIM...

FHowever...

DIPY Man

DOES NOT
contradict

n”?D
R2’PY 17 apparently followed

NINR that g !
was picked... [
YEAR

NI’V 17 separated both. ..
W WVYD 1V WYD
o
D 4
Sonma INBWY 1773
NEW.YEAR NEW YEAR

2 8

However he Aid this...
F'0 PYBNDN 1Y)

he would have only separated
OO
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In the previous Daf we had a Machlokes x»j Xin and 7330

regarding w9191 M.
The xi»p xin said one end needs a nnon n7x and the other Regarding WHOn NIn...

needs a’nb or a nMp. aibhial R?DP NN

711 said in the name of 51 n»a that we must have a door on

one end and a ’r® or 7 on the other. Som

NI P IN 1) NI 7P IN 1D

mns nabn NP 8o

7R AP 2T IR -
Rav Yehuda said in the name of Rav that the Machlokes is e 3T N ST 29 N
only where the w591 112n is open to the 377 mw on both /
sides - N W— RDP Nin
: 3

but if one side opens to a field, all agree that there is no need
for doors, and a nno7 NX on one side and a 1> or 7P on the
other would suffice.
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Rav Yosefadded in the name of 77 27 himself, not in the
name of 17, that if the other end of the »21 opens to an unused
lot of land 5> 7% PR, it does not need anything on the
opening to the empty lot, just a’n> or 1M at the end that If the Y21 opens to an unused lot. ..

opens to the 237 mwA. /'\
o 270 WY \

r
' e
. J ﬂ '|
7R comments that X1 SRWWT 777 297 X - this last
comment of 7737 17 must have been said in the name of 'm _,_
58w, and not 17, because it contradicts 27 on two points:

M AN Aer

Just a 1> or TR

YN comments. ..
L2 [foplls D3/ 277 £
Because it contradicts 27
on 2 points

First, Rav holds that a 17313 931 17379931 331> 1R1911 Y3930 12,
when the back end of a "an opens into a 731 and the back of
the 93n is directly open to a 02790 mw1, it is MORX to carry in
the nan, presumably because it looks like a w91 112, since

. you can see straight through the back of it to a o177 mwn.
This contradicts that which 7 27 said that a »1a» that opens
into an empty lot which opens into a o177 mw1 does not
require any adjustment at that end.

29 holds. ..

Second, from the fact that 77 27 chose a case of an empty ond

lot, it seems that he holds that a nan that opens into a 931 is

problematic even if the 931 does not open into a 0’1797 MW, Seems fven i t/t& 250
However, 27 only prohibited carrying in a 1a» that opens into 777 29 /{0&91 t 0[75’1 to

a 7310 when that 931 opens to a 0’277 MwA.

v 2
holds. .. A PRI 2z
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nww 17, however, explains that it does not necessarily
contradict 17, because Rav only said its Wox to carry in the
"2 because they did not make an M3 °117°Y between the
731 and the "2 - whereas by the 1an7 no 217y would be
required since it is not inhabited, and Rav would agree with
Rav Yehuda that it is 97 to carry in the »an.

o 1A+ v T
In other words, this is not an issue of nw59m 12 rather an They didn’t make No 27y
issue of M3 217, This discussion vontiues on the next ‘e, required
daf.
Agrees with
a7 2.
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